ComputerScience and Applications
PAPER—II

Note : This paper contains fifty (50) objective-type questions, each question carrying
twio (2 marks. Atternpt all of thern

1.  Which of the regular expressions corresponds to this grarmmar ?

S —=ABSAS A sas/ad B—b
(&) asthe B) aa'b (T (ab) (L7

2. Theproposition ~9vP is equivalent to :
() (B

3.  Thenummber of edges in a complete graph with IV vertices
(#) N1 By 2M-1 (<) N ) MN{N—1)/2

4. Which of the following is not true 7
(£) &

B A-B=An-B

()
=)
5. If (@ —b?) is a prime num rand b e M, then :
(&) a?—b?=3 B) & —b’=a-b
() az—b2=a+b@ D) a’—b?=>5
6.  The hexadeci eq ent of {10111% > (1110}, is :
() * @ 241 (C) 142 @) 101011110

aself complermenting code is

code By  Gray code
xcess-3 code Ty 7421 code
urmn of products expression can be implemented with logic gates.
(&) AND — CR B NAND — CR
() AND — NOT Oy OR — AND

9.  The characterisfic equation of the D flip-flop is -
(&) ® Q=D © Q=1 ©) Q=0
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10.

11.

12,

13.

14.

15.

Which of the followang logic is the fastest ?
(&) RTL ® ECL (C) HTL (D) HCL

When afunction is recursively called, all autornatic variables :
(&)  are initialized during each execution of the function

(B) are retained from the last execution

() are maintained in astack

(O are ighored

Enurmerafion variables can be used in : 0
(&) search staternent like an integer variable O

(B)  break staternent

() preprocessor cornrmands @ ¢

(O function staternent

int arr[ ]=11, 2, 3 4|

int count; @

incr( ) jreturn ++count;}

main )

{

arr[count++] =incr( );
printf(“arr[count] =%d&n”% B
}
The value printed by the a ograrm is
(A 1 (<) 3 L) 4

When one-

value
(£)
(B

dirfersignal character array of unspecified length is sssigned an initial

ary character is autormatically added to the end of the string
added to the end of the string

neth of the string is added to the end of the string

end’is added to the end of the string

The declaration “unsipned u™ indicates
(&) uis an unsigned character

(B)  uis an unsipned integer

{7y uis acharacter

(LY uis astring
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16.

17.

13,

19,

20,

21,

23,

Which possibility amnong the following is irvalid in case of a Data Flow Disgram ?
(&) A process hawing in-bound data flowe more than out-bound data floves

By A dataflow between two processes

() A dataflow between two data stores

(D) A data store having more than one in-bound data flows

In DBIVS, deferred update means

(&) All the updates are done first but the entries are made in the logfile late
By All the logfiles entries are made first but the actual updates are done |
(Cy  Eweryupdate is done first foll wed by awriting on the log file

(LY Changes in the views are deferred till a query asks for aview

Which staternent is false regarding data independence ? O

(&) Hierarchical data model suffers from data independ VS
By MNetwork model suffers from data independence

() Relational model suffers only from logical da’ra

(L) Relational model suffers only from phoysi Endence

Which of the following tools is not requ1r tern analysis phase of systerm
dewvel oprnent life cycle ?

(&) Case tool h:u:ul

(C)  Rewerse engineering one of these

Twio phase protocol in a dat mment systern is

(&)  aconcurrency mechaflis iz not deadlodk free

(B) arecovery protoco r restoring a database after acrash

(Cy  Any update i log done in 2-phases

(O}  not effective aBe

hagﬁame awerage, worst case and best case time ?
earth By Maximum of n number
(DY Fibonaori search

earch tree is an example of :
Divide and conguer technique
Creedy al porithrn

(C) Back tracking

(L DConarmic Programming

What is the timme required to insert an element in a stack with linked irmplernentation ?

(&) © (logg™) B Om (€ Ofnlog™ Ly o)
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24,

25,

26,

27,

238,

29,

30.

31.

32.

The equivalent postfix expression for %E +f) +b#c
(&) defbc/+ ++ By def+/bo+=
() def+ /box+ Ly MNone of these

Which one of the following is a physical data structure ?

(&) Array (B) Linkedlists

{7y Stacks (L) Tables

Howe marny D51 signals are transported on a D53 signal ?

(8) 24 B 672 () 14 C})
£ 10 BASE-2 network, is limited to

(&) 20 bytes per data field By 30 stations e
(7 40 sepmments Oy 50 feetb
The netvwork 1987841015 a

(&) Class A MNetwork (B
() Class C Network

The subnet mask 255255255152
(&) Extends the network porfmg 1096 bi

(B) Extends the network i & bits
(T) Extends the network Bortt 36 bits
(CY  Has no effect og the tk portion of an IP address

The LAPE frame s and the frame structure of S0OLC are
TS By Identical
(DY MNon-identical

annot be performed before relocation

cannot be performed after relocation

can be performmed both before and after relocation
(O is not required if relocation is performed

Which of the following is the most general phase-structured grammar ?
(&) Repular (B1  Context-sensitive

(T)  Context free (DY Symiax tree
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33.

34.

35.

36.

37.

38,

39,

40,

Acompiler for ahigh level lanpuage that runs on one machine and produces code for

a different machine is called
(&) Optmizing (B)  One pass compiler
(Cy  Cross cormnpiler Oy Multipass compiler

The 'K’ in LR (E) cannot be :

(&) 0O By 1 (cy 2 (DY Mone of thes
Peer-hole optimization is a form of -

(&) loop optimization By local optirnization

() constant folding (L) data flow analysis

An operating systern is O

()  Collection of software routines (D) Al the(ghfve

(&) Collecion of hardvware components (B) CDIIEC@nwt—Dutput devices

(&) Shortest-Job-first 4=y

iz ore of pre-emptive scheduling

(C) Priority based (D)Q Job-niext

& softaare to create a Job Queue is
(&) Linkage editor
() Driver

Interpreter

y  Spooler

& permanent database enetel model of cormpiler is :
(&) Identifier tabl By Page map table
() Literal table (L) Terminal table

ing®ystermn from secondary mermory to primary memory is called

{B1  Booting
(DY Ressserrbling

e Cost Perforrmance index (CPD is given by

BIWT
(@) 2ens ®)
() BOWER — ACWE D BOWER —BCWS
Where ©  BCOWE stands for Budgeted Cost of Work Performed
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BCOWS stands for Budget Cost of Work Scheduled
ATWE stands for Actual Cost of Work Performed



42,

45,

44.

45,

46,

47,

43,

49,

50,

Software Risk estirnation invaolves following teo tasks
(&) risk mapnitude and risk impact

By risk probability and risk impact

() risk maintenance and risk impact

(DY risk development and risk impact

In a object oriented software design, ‘Inheritance” is a kind of

(&) relationship By module

() testing (L optimization

Reliability of software is directhy dependent on 0
(&) quality of the design O

By number of errors present

(T  software engineer’s experience L 2
(L user requirerment
“Abstraction” is step of Attribute | ge desipr.
(Cy Middle

(&) First (By  Final {
&r a0 15

The frequency band all ocated for the d

{4y 960 - 585 MH= 5 0 MH=
() 920 - 5945 MH= - 955 MH=
Which of the following is dard ?
(&) ANSI X15 ) ANSIX.14
() ANBI X13 % (o ANBI X112
A INT file ingWind 5 is
fi1® By amessage tile
Ly link file
is operation in data mining uses technique.
lassification (B) Assocation discovery
Vistalisation (L) MNeural clustering
The maxirnum size of 3M5 in 15595 is octets.
(&) 120 B 95 (C) 128 (D) 64

-olo-
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